

for this limit we put $x = a - h$
 and then the new limit will
 be $h \rightarrow 0$

Right hand limit (R.H.L)

If we are approaching to 'a', from the Right side
 (from values greater than a) then the limit is
 called the R.H.L, and is denoted by
 $\lim_{x \rightarrow a+0}$ or $\lim_{x \rightarrow a^+}$ or $f(a+0)$

for this limit put $x = a + h$
 then the new limit will be $h \rightarrow 0$.

Example $\lim_{x \rightarrow 3} \frac{x^3 - 27}{x^2 - 9}$

Sol: L.H.L
 $\lim_{x \rightarrow 3-0} \frac{x^3 - 27}{x^2 - 9} = \lim_{h \rightarrow 0} \frac{(3-h)^3 - 27}{(3-h)^2 - 9}$ Put $x = 3 - h$
 $= \lim_{h \rightarrow 0} \frac{27 - 9h + 3h^2 - h^3 - 27}{(3-h-3)(3-h+3)}$
 $= \lim_{h \rightarrow 0} \frac{9 + h^2 - 6h + 9 - 3h + 9}{6 - h}$
 $= \lim_{h \rightarrow 0} \frac{27 + h^2 - 9h}{6 - h} = \frac{27}{6} = \frac{9}{2} \rightarrow i.$

R.H.L
 $\lim_{x \rightarrow 3+0} \frac{x^3 - 27}{x^2 - 9} = \lim_{h \rightarrow 0} \frac{(3+h)^3 - 27}{(3+h)^2 - 9}$ Put $x = 3 + h$
 $= \lim_{h \rightarrow 0} \frac{27 + 27h + 9h^2 + h^3 - 27}{9 + h^2 + 6h - 9}$
 $= \lim_{h \rightarrow 0} \frac{h[27 + 9h^2 + h^2]}{h[6 + h]}$
 $= \frac{27}{6} = \frac{9}{2} \rightarrow ii.$

from i. & ii.

L.H.L = R.H.L

$\lim_{x \rightarrow 3} \frac{x^3 - 27}{x^2 - 9} = \frac{9}{2}$ Ans

CAUTION $\frac{f(x)}{g(x)}$ is not to be differentiated by quotient rule.

But $f(x)$ and $g(x)$ are to be differentiated separately.

Some Imp. Formulae

(1) $\lim_{x \rightarrow 0} \frac{\sin x}{x} = 1$

(2) $\lim_{x \rightarrow 0} \frac{\cos x - 1}{x} = 0$

(3) $\lim_{x \rightarrow 0} \frac{a^x - 1}{x} = \ln a$

(4) $\lim_{x \rightarrow a} \frac{x^n - a^n}{x - a} = n a^{n-1}$

(5) $\lim_{x \rightarrow \infty} \left(1 + \frac{1}{x}\right)^x = e$

(6) $\lim_{x \rightarrow 0} (1+x)^{\frac{1}{x}} = e$

Note L, Hospital's Rule ($0/0$)

Let $f(x)$ and $g(x)$ be continuous and differentiable in the neighbourhood of $x = a$ and $f(a) = 0 = g(a)$

Then $\lim_{x \rightarrow a} \frac{f(x)}{g(x)} = \lim_{x \rightarrow a} \frac{f'(x)}{g'(x)}$

when $f'(a) = g'(a) = 0$

Repeating the arguments

$= \lim_{x \rightarrow a} \frac{f''(x)}{g''(x)} = \dots$